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Chapter-7

Chapter Name DIVISION

STUDY NOTES

Learning Objectives:- ﬂ\’ﬂ

* Divisionis repeated subtraction

Nl

* Let us revise ., _ .
Changing your Tomorrow A

* Long division method

* Word problems

*Division is repeated subtraction
- There are four terms of division.
_Divisor ,dividend, quotient,remainder.

_For example- 9+4 =2

2 —— Quotient )
Divisor =4 | 9 —— Dividend
-8
1 —— Remainder

*Properties of division.
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* ’ DIVISION BY 1 PROPERTY PRSI MATHEMATICS | CLASS - 2

E les:
e Any number divided by 1 3941 = 09
will result to the number > 825+1=825
itself as its quotient > 5240+ 1=5240
Try these:
349+1= 9,163+ 1=

[ | w » DIVISION BY ITSELF PROPERTY

Fl Examples: *f\\/]\\[ Y &

e Any number divided by itself > 47+47=1

will result to 1 as its quotient > 594 +594 =1
> 5485+5485=1

e s J|AL GROUP

g ‘
vy DIVISION OF ANY NUMBER BY 0 PROPERTY ng your TOMmorrow ‘

o Examples:
e A division of a number by 0 > 92 +0 = meaningless
is meaningless: the divisor > 193 + 0 = meaningless
can never be zero > 3.459 + 0 = meaninaless

*Let Us Revise

-Let us revise the concept of division ,with help of some examples.

- Division helps us to form groups equally.

-Division is also repeated subtraction.

basket has 18 apples which are to be shared equally among

e I N
3 children. How many apples will each child get 7
18
—3 @
1 5
-3 —
T = N
T T —
o
-3 —@
(=3
—= —=
3
— g -— & Each child will get [: apples.

=2_ Surbhi wishes to share 15 pencils equally
among her S friends. How many pencils .ﬂ--ﬂ.. ..E..

will each friend get 7

< il = ana Za =Zamm T

Prencils.

Everyone has

WWe write 15 = S5 —
= Put 10 birds equally in 2 nests. How many birds will be there in each
nest 72
e - Nest 1 : birds. Nest =2 birds.
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*We can also perform division with the help of a number li

-We have to jump from the given numbers reverse until we reach to 0.

~EDUCATTONAL GROUP

Let's see an example:-
Changing your Tomorrow M

15+ 5= _-5 . To show this division on a number line, we jump
. 5 divisions from 15 every time until we reach 0. How
many times have we jumped to reach 0 ?

s ! 1 } ! 1 I 1 1 : L ! ! >

T S X T =T & E ¥ T £ X% "
g 1T 2 3 4 5 6 7 8 ® W M 12 13 14 15

Divide 20 by 4 using a number line.
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*Long division method

In long term division,we have to follow the steps to get tient and

\.,

—p—h I 5% A=) > L 1 A 1 A, . S ] I —
2 —= Diwviding 7 tens by 3.
Diwvide = =) 74 wwe get 2 tens, and
L > sSorme extra.

=
Multiply - == 5 Ta

6 — 32 tens — 60 tens.

=2
Subtract : = 5 T3

- — Subtracting 6 tens

= S
:% 1 from 7 tens
——
—
=
S =2
5 =) 7a
Bring dowwn : — sl
14 —» 1 ten 4 ones = 14 ones
=2 4a-—= Dividing 14 ones by 3.
Repeat or 3j T we get 4 ones and
find the _% some extra.
Remainder = — 12— Bx g9 ones = 12 ones._

o Remainder
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Let's see some examples:-

Long Division Method

Example 1 Method -
= _ - Step 1 : Start with the extreme left digit. Divide the tens by 3.
Divide 96 by 3. O tens = 3 = 3 tens. (3 < 3 = 9)
Write 3 above 9 jie. in the tens’ place and subtract
2= the product from the tens digit.
3 )56 ( S— (33)=9—9=0
—8 Step 2 : Write the difference and copy the ones digit 6 below
g ones’ place.
_—0 Step 3 : Divide the ones by 3.

S ones - 3 =2 ones. (3 x<x 2 = 6)

Write 2 above 6 /jie. in the ones’ place and subtract
the product from the ones digit.

6 — (B3 x<x2)=6 —6 =0 Ans. 32

Many a times, we find that a number is not completely divsible. Let us study
one such example.

Example 2 Method :
e Step 1 : Divide the tens by 4.
Divide 89 by 4. 4 < 2 =8, i,e. 8 tens = 4 = 2 tens
Write 2 above 8 jie. in the tens' place and
22 subtract the product from the tens digit.
4589: 8 —(4x2)=8—8=0
I Step 2 : Write the difference and copy the ones digit
o below ones’ place.
— 8 Step 3 : Divide the ones by 4.
1 «—— Remainder Now, 4 x 2 =8 and 4 x 3 = 12
Since, 12 > 9, we take 4 < 2 = 8
Remainder 9 ones - 4 = 2 ones
indicates that the Write 2 above 9 /jie. in the ones’ place and
dividend is not subtract the product from the ones digit.
completely divisible 9O — (4 %x2)=9—8=1
by the divisor. Here, 1 is called the remainder.

Ans. 22

At the end of the sum, if any number remains as remainder than the dividend is
not completely divisible by the divisor.
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*Word problems

Following steps we have to keep in our mind while solvin story sums.

*Read the whole story.

- A
*Find out the important factor or key wgr"&l\/j\v :
*Decide what we have to do.

“ERUCATIONAL GROUP

*Check it whether you are correct or not.
Changing your Tomorrow M

W the story sums carefully and understand the given
information.

the fact or the important information.

Decide what to do.
E the story sum.

Check your answer.

READ - FIND

DECIDE

CHECK SOLVE
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Y &

'-E‘xarnplé_i 36 biscuits are to be distributed equally among 9 children.

For example:-

Word Problems

T How many biscuits will each child get ?
Solution : Number of biscuits = 36 4
Number of children = 9 9)36(
Each child will get 36 + 9 = 4 =36

Ans. Each child gets 4 biscuits af

FrT———
Example 2 74 pencils are to be packed equally in 9 packets. How many
T pencils will be packed in the boxes ? How many pencils are

left over ? 8
Solution : Number of pencils =74
9)74(
Number of packets =9 —70
Number of pencils in each box =74 + 9 =8 D

Number of pencils left out =2
Ans. Each packet will contain 8 pencils and 2 pencils are left

=SR]
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MIND MAP
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DUCKTS

-{ Changing your Toi
\_/"\;
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